Phan trim s (s6 bi thiéu)

/&4 8%

Tén:

x40% =19.2

x60% = 1.2

x 10% = 9.6

x70% = 52.5

x 40% = 34.8

x 10% = 5.3

x 70% = 56.7

x20% = 1.8

x 60% = 36.6

x 10% = 0.8
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Ngay thang: Diém:

x70% = 37.1

x30% = 3.3

x70% = 67.2

x 80% = 62.4

x 10% = 1.7

x 40% = 40

x 10% = 5.8

x 10% = 4.5

x 10% = 8.4

x 80% = 56.8



https://www.snowmath.com

ﬁ g & Phan trim s6 (s6 bi thiéu)

Tén:__ Ngaythang: _ Piém:____
48 x 40% = 19.2 53 x70% = 37.1
2x60%=1.2 11 x30% = 3.3
96 x 10% = 9.6 96 x 70% = 67.2
75 % 70% = 52.5 78 x 80% = 62.4
87 x 40% = 34.8 17 x10% = 1.7
53 x10% = 5.3 100 x 40% = 40
81 x 70% = 56.7 58 x 10% = 5.8
9%x20%=1.8 45 x10% = 4.5
61 x 60% = 36.6 84 x 10% = 8.4
8 x10% = 0.8 71 x 80% = 56.8
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